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Time & Work

Irtooduction -

Wotk s defined ag Some‘r?xina WHhich Pas an effect oF
Customn ' often the One disimed O¥ exPected « The Dasic Concebt
of Time 8and Woik s based On the Conc@fat of @au’(?:orrﬂonaﬁg

> ¢ +hene 15 lot of Wotk , Hhen time taken to Complrte that
Lotk wWidl be more. Hence both time and Work e diveckly

Propational to cach otten
Time taken = Wotk

S Condition agpgﬂ\\Qd it .Same %QJ’[SOh 'S wof&l‘h.a

(wnULAE OF CRPACTTY
i \.\Joﬁc
Cagoacx‘ra'—‘ Sorie

Tt thene ane ot of “bonsons , then time takan to Gorfiate

o work wide be Jess, Hene ro - OF Pansons 1s
\)nluenso_ﬂa Pmﬁ%u’donaﬁ o time faken to Com%Meau)oﬁ’((

2

4
Time % o o Ponson

Note'— GQhQI\GMﬁd We assume +hat LL)OFQ ) -—Pﬁu]rg
e value! .
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salved examples

Q.1 A can complele a work im 1o days and B can complete

the same work im 1s dagya. | they work together, im how

maryy dayd wwork will be completed?
sal: _

A Cah Comblete a wotk in = 10 days
oty = Work .
CE"E"MJ Tt [Bld formula ]

let us assume moa’k Hea
[ EFPmencH }) CETEJBCHU of A doma wotk th 1 day

B (an Comf:.Me um*& ih = 15days
[ EFPud'enod = Ts{ % Caféacita of 8 oloina Wworkth 4 daﬂ

=4 41
10 414

Total Ca‘%aci’rﬂ of A 4 B to do woik in One dad

[Ca%au‘ia of- A+ Cabacwa 0f 8]
= 4 (oA
10 15
3+ . _ 4L
7 3o ® 286 c
FLS we Know)
Ca%lac_ﬂ‘a = B)__(.).!—lg—
mJy
4, .5 3  Ume= Gdaas =) ng(uimq
o Ty _
| Qocumenis

SHRTCUT! The name of the SRowteut metfiod widl he LCM
A 8 a8 | Rubinghand
Da 10 g e
= 1,f @LCM of 10,15 (s 30 (totad Wosks 30)
| (_b) Gﬁll DF A =3l§[m: 3

Effticrency 3
Totawork 3% o Tolworl | SR OFB=3lis=2
(€) CEp> of A& B togethen fs 5(3t2)s

Qaﬂ EH’"CIQNH
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Q.2 Awndoa.pima(umkm 8 haura and B can do the
dame work im 12 haurs. wm how rmuch time both cam

#/mah the whale uonrking together?
A B n4b
Days- 3 12
Efficrency- 3 n 8
Tlwork- 2y Nurrbenof days =4 =4 3 days

Q.3 A .and B Lagether cam commplete a work im 20 days and a
alame cam fimiah that work im 30 daya. vn how rmamy

daya B cam compudte the wonrk.
A48 A 8 c
Qays- 20 Jo — —59- = 12 days.
CPRoeny- 3 2 1

Toflwork- 60 e wWosk = 60 = godume
B Complete == 0]

a4 A B and ¢ can do a work im 1o, 12 & 1S days

respectively. vn how /mamy daye all of them Logethenr
sal: A 8 C A+B+C

0
Qays 20 12 18 @ ;> 15 =4y
ﬂtB B4C CA (Atg) A
CHifcrmca— b ) Y 15 Day 24 3o o "Godays» 120
@ S u 3 6 1
G0 Tobimks 120 | A+B)+(84<)+ (C+A)=2004Brc)
a.5 A and B Ltogether cam complete a work /i 24 daga,
and ¢ im 30 days, A.and cim 40 days. rind the time
mkzmlzyAatamrosztzﬂmwk

sl A48 geC  C+A (o) A
Bodaa_s_y

120
(Daas = oy 30 uo

Effteny- 9 u 3 6 1
T.Uhl wook. 420
EFFicfenaa of LMB)-»@«QH (e4f) = 2.c(A+ 8+
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Q.6 A Lakes 4 days monre Lo complete a work than the time
.take/n.bg (A+B) Lo do the aame work and B Lakea 9 days
mz.thamﬂmm.tak.embgmm).to.aﬁomwmk. vn Ao

mamy days A+ commplete the work.
Let ug assume (mp,) Comblgte in =h days
Cabacr\-:j Tirne
Lek us assume work tobe unity Cafﬁacﬁa =

So, A Can do Work fh = (N+y) days
8 can do mntk in = (h+a) days

(Cabacdgn) h+4
i Cabacﬁa)ﬁ h+=1
2 h Thiy h+‘1 SHORTCUT 3
s L= 204 TA +8% = TA extrd X Berha
N2 +43h +36 TA+B8 =Timeakn by (848} o Cormplte otk
3 N2 4 43h+36 = 2n2+18h TA extya = Extaa Kme %3 A
h® = 36 Taevta = Extoa imy By B

h=6daﬁsj
TAQ* =ux9 =3¢ met Gdaﬂ_';]

Q.7 A can camplete a work im 10 days and B can complele
the same work im 1S days. | B atarts the work and A
Lhe work be completed?

sod:

sad: o 8
Qays 10 15
EFFlUEnea 3 ya
Totwosk 3o
5 day Wosk of B = 2x5
= 40
Work of memqinins = 90
kime taken by A4 B togethen to Complute = 2 =udays

Qe!nqmiha wntk
otk Comfaﬂl}e th=5+y =93 day.

4
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wa/tb/ng.tangﬁm A and B8 can complete the work i
daé.ca. fmg LLONK 'Un 2
Leaves. yf A ﬁmgmwﬂemim 9W WMW "3

sal: (A+8) Cah do Wotk = 42 days
Ca'%acﬂa = u_)[;,):&e . Pmmuo,ﬂ

Let us assume wWork To be 1
— Cabadity of
@amhd Ty \WA+0 = Workdone (A+8) in

ax WA +8 £ 5 x WA =1 (Given) 1 day

Sax L ysxhr =1 WA = Hov‘kdone%\j Atn

y day

5WA =13 3 |Wa =L

\ﬁﬂ*B}* Bi=1p “ 20 ND'OPdEUSBGQoh@ndo&tOOIk:E}OdW

Talg=Y, wpg=L L 453 214
i o e 125 6o wm® O
Q.9 Am.bﬁ/biczaagaodmmmnamm B .and therefore io

able{xxnmhafabx}neomézam#@na. wWorkimg

aoity OF A = 3y :
Time Taken U‘B—bfoCom‘f:ﬁe,‘retﬂoﬁs--;

Time {aken by A -b Comblete Work = &
L _ L =60 [guen)

™ 3

= . o 30

3H

— A

o )
Cshacity of (048) ~bo Conflete & work = 1+ 3 :f ’
Time taken "BU (A48) o Comfﬂe‘re a work = o

puﬂfna D inH

_rl:me - 1x 90 = 22-9 da‘»jp
Wyl
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comcepl of Allernate nays
Q.10 A and B can complele a work im 20 dagys and 30 dayos
Lo olarted by A.

sal: noB A Startt the Work
@aas 20 30 A B A B AB.___
Sicorey 3 2 3t 243124352 -
(H A—— Th o datls [R*Q)Comﬁl -§ work
_GWQOGK co {Dat's takeh ‘%3 (A+8) to Com'f:ﬂ@iﬁ

=& .
Go work = -5 = 24 days

Q. Il A and B cam complele a wuork im 10 days and 20 dasys
reapectively. f they work om alternate dayes. rind the

sol: A g TP A stat the work:
Qags 40 20 ABABA B----
. 2 14 2 42 4 2 1----
@?\@Q“CH -——-—2—5—' otk Complete in20ays= Ei%
Eﬁm\ﬁw Git=dggs- 2WOrk 5 TG AT o L e
1IF 8 Starts, 23 b A B~ 2u0rkmemming, 8's twm
Wosk Cormplete , 8's tenm = 3 Totak dlays LS gfgf oy
work. Complite Th G days = 3xe =18, =8 days.

Q.12 i 3/mem or 6 womemn cam do a piece of uork im 16 daya,
im how many daygs can 12 men and 8 women do the
bame plece of LOrK?

Sﬂl: 3Im = bw
m—g ( EfRictency of [men =6
Totad work, = 3%6 = 6X3x16
= 28%
Time taken By 8 men ¢ g women
2932 289

= —————— = = Sda S
12Xx6+8X3 12 (6+2) | J
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Q. 13 24 memn workimg 9 hrbs a day can complete a plece of
wwork im 3s dags. 30 mem working 8 hra a day complete

sal; M Dt M202H2
Wi W2
T 4 2 .
ﬁw = 29%02 X8 [ §ince work.in *ﬂm@]
RN T
7
D2 =7

Q. 14y 100 cata cam KU 100 rata im 100 days. vn how mamy
daga 10 cate cam kKill 10 ratar

sol:  Gince Por Jﬁaae s ane rot given, fPence we mernove it
My D HiE . M202H2 [‘ EFF\U‘ER(H s Cﬂngiah’(]

Wi W2
100x16& _ “ex 0z = tDlz’]J)o
166 10

Q. 1S For Aot mamy dagys will 60 kg of food he sufficient for
a family of 8 members i each mmember comoivme 1.s kg
of food per day?
© Since founs Pon daa 's not given and QFP!UEM(Ta is Conslart

MOt _ M2 02

——

R\ Wa
gxD - 4xL
60 1'5

| = 5days
\D 45 |

Q.16 14 wuorkers smake 17 hbooces im e dayoe. How smamyy
workers are reguired Xo amake 289 boses im 42 .daysr

sal:  Sina Pen daa Hfowr is not @fueh
MDL M0 [, Efficercy is Constart)

A w2
paxg2 . M X 42y
JES 288 1

M2 = 3y Wotrkens |
' 7
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SIMPLIFICATION

2 Rraction,
1= 1007 Yii = 0%k ¥ = 3157
b =507, g = 8-B7. S/8 = 62.57.
73 = 38.337%  l, = 7.697. g = 8157
%= 25, iy =F-147- S/ = 83.337.
s = 207. s = 6.¢¢ . Win = 91.6% 7.
e = 16-6¢7. be = 6257
Yo = u-287. Ly = 5-887. }_447{‘?339’7
g =12-57. g = 5-5¢€7-
Yq = 11-117- lV1q = &-267
Yo = 107. Voo =57.

- Mul kiplicatien

[fraction| —— addition

\ Sy b‘b’ad"m

o o T % % arte, ofer AT
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%Hiﬁfa‘caﬁiooz P .

(O g = 4087 b) Yo = 25+
93 (4
J’/{q_ :7.{5{‘/:_ J'/’B = IQ‘S./.
Gg
}[é = &£« 2857
oy b
@) é—- = 16-6& 7. (OU -//f.f = q,o? .
G G
1o = 8327 "2 = 18-,
J?daaiﬁioQ fbvﬂ:
@ [67F.€77. (b) ll&-6¢ 7.
—> o0/ +T7-§9 Y. oo/, + 1§-64 7.
- / =
=L+ bz =133 =1+l =1L
) 1831-57. (o) l¢2.5 Y.
"_DIOD/-'FS?—-S?,. — [DD/- __'_6‘2_5-7
_ %, _
R I =1+ S/
= 12 K
2 > 5

8
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(@) q0.9¢y, (b) 8757
= o /. ~9.097. = o0/ =125
o _ 4
= 1 1L > 4 '—8—'
= 8 = 7
S g ol
(C) 992.8¢ v.

= oo /. - T 14 .
’._

-

& I

|

And

L

E§ - [L-28-5¢% of 35+ 87.57. of 30 =2

:CQ'XV?)-\’SS 3 CIUDY..-—J"Q-S)’:) X 32 =0,

=2 L
i.\"?)S' + C’ 8’))(32

=2 yvas + L x32
7 8

= Jlo+ 28 = 3B 4ng

33-5v. of €4 + 16-6€% of 04 =JT2F + 1
=Z3C12-57) xéu + (&) X 24 = 2% +

™ ° F_oF tou
3¥§yé'kf -f'/?)rgsl‘r 2
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=244+ Y4 =97 +2>L

@ ng 7- @j 2434 LOO 7. = 24ay
A\ SO7. = (2lF
SO% -2 . 7. = oy a4

b . e? 2440
SO%-§ 7.
, lo0 4 — 9ugo
230 - 1273 /
S07 — 2z,
:—_HO?M 57/‘____9 ’13
@/SS\/ o} Sos
SO%. +S . 00 7. — S0
=289 %5 Ang Sy = 9¢.0c

L@ 26 7. og; 1248

7\
257+ y. lob 7« — 1oug
312 +l12-ug 257. — g >lnuy=g

= 324-ug 4, [7- = 12 -48 v

11
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GT7-€8 7. 3369
A\

€C-6Cr +1 /. G€-E6 7.
224¢ + 33-69 LQ&-XS?){C;
=2279.69 4n8

=2X (23
=Q24¢

Ena@;i‘a"q —g
Rrof 4= v of )

2T -
wké{i#%k% Bothv o Same,

How tbs woks
\
Ws¢ o 50

’ﬁS(/

@3550“509/ csgf’SQ

Dtmaé ko 8ochma, Kucﬁu bhu mahi SOc“ﬂl/qu,
PQ—Otech- Dl'ﬂ?cf“
~28 by,

12
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—2 250 . o§ 25.¢

i{éikm % Subtraction Mk&

§-[t.] 4859 + €40y 4 9024

achool Method
0I0Y0)
4gs 9
suz4
+ 923\

2051 F Ang

13
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Sarkans Afauk«a'é, Zag ane (Wala Meﬂ/boc{

Q. 4ps9 +cu2u + 234

4ooo goo 59
§ooo 4 o0 24
qooor 2 00 ay

19000 & 400 + 7 = 2o0SlF

X Slve all Calcalation, o onimed, oot en pen,
g baper.

Solve, om mzfml' :

L* 4goo + 84ov + 7600 = 20, 600
2~ 3848 + S228 - 3316 = 5,770

3.1y + 1982 — 168 = 23AQg
b4.92368 £ 146y +108 —29 = 39|

S 49352 + 61264 +8asl¢ =(,qq,982

M u[z'w,bhcai'b fatck

s Mulkiply by 5 He (ping Foamd
’ Multiply by 0F Hon
a) %- 648 xs dﬂvcle,bdﬁmomaw]

480 ‘———M Baben
2

= 83240 Ay

————

14
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b) 322uxs

32240
>3

ﬁ

=120 4nd .

) 325X%S

= 2250
2

= (625 4nd.

a) 3223%x5

—8292%0

Z 16115 Ang.,
o>

23 P’Tulh‘bl& b(LTL 285

Cg @ 3izx25
— 3(%00

(b) 1816Xx25

—>|8’KO‘O
4-

(C) 2131 X 2.5
— 212 00
Z'L.

=1825 Ang.

= HSU 0D 4y .

= S32F5 4ng.

15
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